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10. (13 pis) Let f(z) = 3
A) What is the domain of f(z)?
¥ LA =0 = x-3)HI=0 @x =24 5 Do= R—14,55

B) What is the y-intercept of f{z)?

§{Q} = "—%_ L— 3__&“-.,'%‘ :
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C) What are the x-intercepts of. f(z)?
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‘D) For a rational function, such as f(z), the vertical asymptotes are the vertical lines
corresponding to the reots of its denominator. Find the vertical asympotes of f(x).
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% uX 42 =0 = X =1 aad %=D are vrtiwl &%}mg—mﬁ&a.

E)} For a rational function, such as f(z), has a horizontal asymptote if the numerator
and the denominator of the same degree. The horizontal asymptote is the horizontal
line which corresponds to the quotient of the numerator divided by the denominator
of f(m) Find the horizontal asymptote of f(z).
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F) Sketch the graph of f(z).
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1. (10 pts) Find all z sat1sfy1ng |3z + 6] >z + lx|
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3.. (12 pts) Find all solutions of z satisflying

2 +3r—8=2/22+3z
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4. (8 pts) Find a nonconstant polynomial P(x) so that P(1) = P(2)=P(3) =

4. (10 pts) Divide (z® + 1)(2® + 42+ 3) +4 by z+ 1. What are the quotient and the

remainder?
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C. (12 pts) The vartices of a square ABCD are Afa, 7), B(2,3), C(6,¢) and D(3, 10). Find

a,c and arza of the square.

1Pz} = () -2 +y
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7. (10 pts) What is the equation of the line which passes through the vertex of the parabola
y = 3z% — 12z + 9 and the point (0,1)?
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8. (8 pts) Complete \file table below by filling in correct values of (fo f)(z) and (go f~)(z):

T 1 2 3 4

f(z) 2 1 4 3

g(z) 2 4 1 4

Feh@ | 4 | 2 | 2 |4
orM@ | 4 |2 | 4 | 4

9. (9 pts) Let f(z) =z* — 4 for z < 0. The function f(z) is a one-to-one function. What is

its inverse, f~1(z)? Find domain and range of f~(z).
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Domain f~'{z) = E"ﬁi f*;';}
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Range f1(z) = (—=2, @]




